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(Multiple Choice Questions for SDE Candidates)

1. The part of the earth where life exists is

(A) Lithosphere. (B) Biosphere.
(C) Exosphere. (D) Ecotone.

2. Sweeping away of fertile top soil by wind or water is
(A) Siltation. (B) Land slide.
(C) Soil erosion. (D) Leaching.

3. The soil of India’s eastern and western coast is
(A) Alluvial. (B) Black cotton.
(C) Red rocky. ‘ (D) Laterite.
4. Ozone is formed in the upper atmosphere by a photochemical reaction with :
(A) Ultra violet solar radiation. (B) Infra red radiation.
(C) Visible light. (D) All of the above.
5. The complex network of interconnected food chains is called :
(A) Trophic level. (B) Food web.
(C) Ecological pyramid. (D) None of these.
6. Official date of Earth Day is on :
(A) April 22. (B) March 21.
(C) May 28. (D) All the above.

7. What is the name of the action plan for sustainable development in the twenty first century framed

in the Rio Declaration on Environment and Development (1992) ?
(A) Action 21. (B) Agenda 21.

(C) Rio 21. (D) Kyoto Protocol.
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The area where all the living organisms interact with each other and their environment

is —
(A) Biosphere. (B) Exosphere.
(C) Mesosphere. (D) Thermosphere.
Agriculture is the chief subject of
(A) Green revolution. (B) White revolution.
(C) Black revolution. (D) None of these.
Enrichment of water body by nutrients like phosphorus and nitrogen is called :
(A) Succession. (B) Eutrophication.
(C) Stratifization.
Major cause of Ozone depletion is due to which chemical ?
(A) Chlorofluorocarbons. (B) Polyphenols.
(C) Dioxins. (D) None of these.

The portion of the earth and its environment which can support life is known as :

(A) Crust. (B) Biosphere.

(C) Exosphere. (D) Mesosphere.
Which gas is likely to be reduced in the atmosphere by deforestation ?

(A) Carbon dioxide. (B) Nitrogen.

(C) Oxygen. (D) None of these.
Salinization is

(A) Accumulation of salts in water.

(B) Accumulation of salts in food.

(C) Accumulation of salts in body animals.

(D) Accumulation of salts in animals.
The intensity of earthquake is measured in

(A) Beaufort scale. (B) Richter scale.

(C) Mohs scale. (D) None.
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Energy is returned to the atmosphere in the form of :
(A) Potential energy. (B) Metabolic energy.
(C) Heat. (D) Vapours.

The resources that can be replaced by natural ecological cycle is called :
(A) Renewable. (B) Non-renewable.
(C) Exhaustible. (D) Natural.

The presence of which is necessary for photosynthesis : |
(A) Chloroform. (B) Chlorophyil.

‘ (C) Phosphorus. (D) Polymer.

Snake is an example of : -
(A) Primary Carnivores. (B) Secondary Carnivores.
(C) Herbivores. (D) None of these.

All the genes of a population is called :
(A) Gene poll. (B) Gene.

(C) Ecosystem. (D) Population.
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